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(5) Basic Operation System.
(t) MicrosoftWord.
(e)'Microsoft Excel.
(8) Microsoft Power Point.

161 <rFEErn q(Glfr rg <tsEl Blt(9rs rl&l 
.

q ?t frTq6rsrft <s:t?FEl-?t stTflE{q {{r r+rg nirs.H q(ru-qcffi q-qI {(TErE ,lzF6r6F lrr[-lE cT qTc-{K FTI

fu\dX.rL-*^-ia1a1e'
gttta utvt*1fr1

frfiT-{c-{$Tfrqfiq s {q-fl'

TPTSBI< bt?c'r< "leffi {fuSc"lsfr6
fufuall

(Tf{t b5)cc5s I

flts <frTq tffil'rr, v'fbl efrrcrtta qrflcdF{, tks-fl{r R'strf, c"rm-<t(st i'Er, Elstl

t I q-{f{ (s'ts "tlft{ d1fr, qfrr r{stfr om oftBbfr NF-sR-r, qks.{{t fu'f, r.fcfif(Et 158r, trr$f I

qqr q-{"t& e ffi sFird y{-{frPtg

rr lorlF< (A{f{$, 'tffifut, ufof t

t r tsqcfr{ (q,[PH qfutrqr-l), 1frss{r frq't, Erflt

,g r ftfrsr* ry{+.ffr rC< (FlO, '|ffi fun ufof tqfrrr< qfrq e q'{rn aFtmq +t'Tfr sfis rteln qil qT6dt{ i'rl crEtt)

l;:+fifis{ frcBc q{tF#, qltfttr C{Er, 4frs-sfl fr-sftl ffrl t,tilrr* qr{fi qTqtfi 6bsrr6 Qtr<qq i'rlEfits Efi{ $qs

fiFov+mq-* q*rstc't{) 
r

a I c<tlT tq-ds qW{ tdt, €rffr cdfeflsld, \rytlfiF cfi, '|fr-+-s+t fuuf, trFo[ t"tfr+t<ncr$ wgtfi r$exr6 ftnFTc

sfEEH srr{ dW fiFrs+'*rcr* q1tetfi'g r

\e l q-ff{ fita q1-p-as Rfrfft, vfi .sfr/T'(6ls 1,tr{sR\slT, sFfuT futl; a1fr<ry{t Tfu{, trfsf 1

11 g:gHfrqi v'ffit, drnT{ \{ft"ttrlf-e, 'fR<rsfi futrt, trFtttr

b.rc(EUiftl


